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LT = 1 312,974
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Rkt A = 1 216,776 | IEMEFETE (8] 156) 250 m2
BGHROE VP R OWE + e+
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P v T = 1 58,290 |F&Hh 1 =
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Layyy)-b, B B &
W7 ny R 117 m2
t=240 ; FAFE/ )b, wEREA R W LB IERF
&t
W7 ny R 133 m2
t=240 VA& ; P ) -b, ERE e R (A
. W LB IEM S T
1k D EE 8 m
200X 350 18-8-40 (k) ; HFLE Tp
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t=240 FAIHME ;

TR AL T = 1 248,908 | kiR 29 m3
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 AAA, frHl LETe

e 2 1 16, 473, 750
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b E 1 =X
0 Cabl- EHIRY £5Te) ;

e 1 =
2 AL CoOMLE

-3 - SR ST KR S W )




B
T
iy
i
I

THEg | PR T

TERXSy - THE - R Hofr % & #E il bl M EN

A R 2y 892, 320 |AZiIEFHELE A 1 2y
BT EE X 35, 404, 078
B RER =X 3, 694, 000
e TE: = 427, 000
B BREYGEY, (G L) =X 427, 000
Hom e (RFkL) =X 3, 267, 000
T X 39, 098, 078
B FR =X 12, 706, 000
N i X 51,804, 078
— R A =X 9, 605, 922
Tk X 61, 410, 000

-4 - ELAmE s )R




